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( )
28 (40) 20.7 16.9 14.4 13.2 12.3 2.2
42 (60) 14.6 11.9 10.2 9.3 8.7 1.6
56 (80) 11.4 9.3 7.9 7.2 6.8 1.2
70 (100) 9.4 7.7 6.6 6.0 5.6 1.0

( )
28 (40) 2,117 4,307 7,370 10,092 12,612
42 (60) 2,240 4,556 7,796 10,674 13,340
56 (80) 2,331 4,741 8,112 11,108 13,882
70 (100) 2,406 4,894 8,375 11,468 14,332

26,701 44,628 65,654 82,188 96,331

( )
28 (40) 28,818 48,936 73,024 92,280 108,943
42 (60) 28,941 49,184 73,450 92,863 109,671
56 (80) 29,032 49,369 73,766 93,296 110,213
70 (100) 29,107 49,523 74,029 93,656 110,662

( )
28 (40) 282.0 191.5 142.9 120.4 106.6
42 (60) 188.8 128.3 95.8 80.8 71.5
56 (80) 142.0 96.6 72.2 60.9 53.9
70 (100) 113.9 77.5 57.9 48.9 43.3

( )
28 (40) 2.48 2.47 2.47 2.46 2.46 2.47
42 (60) 1.66 1.66 1.65 1.65 1.65 1.65
56 (80) 1.25 1.25 1.25 1.25 1.24 1.25
70 (100) 1.00 1.00 1.00 1.00 1.00 1.00
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10,000 50,000m3/ y = 1,550,000 x/1,000 0.58 × 103.3/101.5

1,000 10,000m3/ y = 72,734x0.26

1,000 10,000m3/ y = 978x0.59

299m3/ y = 14,680x0.49

300 1,300m3/ y = 505,000 x/1,000 0.64

1,400 10,000m3/ y = 1,380,000 x/1,000 0.42 × 103.3/101.5

1,000 10,000m3/ y = 1,580x0.66

15 170m3/ y = 112,140x0.26

1,000 10,000m3/ y = 125,019x0.04

- y = 2271.2x0.6663

20 100kL/ y = 237,636x0.4571

20 100kL/ y = 796,386x0.1031

20 100kL/ y = 766,089x0.0971

20 100kL/ y = 226,590x0.4569

20 100kL/ y = 57,548x0.5274

20 100kL/ y = 55,786x0.5207

20 100kL/ y = 121,642x0.4949

20 100kL/ y = 234,173x0.4582

- 9,200 /
- 63 /m
- 45 /m
- 56 /m

1,000 10,000m3/ y = 2,468x
10,000m3/ y = 18,800 x/1000 0.69× 103.3/101.5
300 1,300m3/ y = 19,000 x/1000 0.78

1,400 10,000m3/ y = 28,600 x/1000 0.58× 103.3/101.5
- y = 37.811x0.6835

20 100kL/ y = 17,845x
20 100kL/ y = 6,716x

- 220 / /
- 60 /m/
- 31 /m/
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1) 29 2017 4  

2) 2016 53 pp.344-346 

3) ( ) 15 25  

4) 

2014 1  

 




